~

LRERLPEREPERTR2TYIHE A 2373 2 F Y R BF PR
% HEM . ’iﬁiﬁ’é‘;lﬁ;*BOﬁ’ﬁ{E'&’glv‘.—L/}o

( =+
( A 1% g—"fzﬁb&a;@g FHA e A2 - o
( #

1y
T

ML FEE R 2 Béqn%* J*‘ *:‘ﬁé%ﬁ poe

n

l. e4vat —3>To - ERL: 2x—l—(a—|—3)y 7oLy (a+3x+4a+1)y=5" %% L& L, =3 pr>a=7?

3
(A)—1 (B)_T (©)—2 D)—>H -
2 Herl<a,> i Ra=2 ao=——a, (n3 p A £Ya =7
(A)g (B)—% (C) 4 (D)—4 o

3. KnupREco P 1+24+4+84...+2"=2047 > Bl n="7

(A)9 (B) 10 O 11 MDb)y12 -
4. ) DN 142+ = (@)2 s T E AP 1274 4200 2 L

(A) 41075 (B) 41095 (C) 41115 (D) 41135 -
5. % A(—4, —3)>B6,7) P LMEAB T AP P PB=3:2> Pl P ihd L

A 2.3) B) (5. 5H) © (.2 O =5 -
6. ZRY > A3, —1,2)~B(—3,2,5) ABteyz T & B L 5 ¢

(A3 2 B)3\/ 5 ©)3 D33 -
7. BRELEZEHE?P R TG E)~E~E v iE(—1,2,0023,0,2)3 20 2R 00T oR- 8y B pF At =

T 519

(A)(2,2,2) B)(1.1,1) ©) @, —2,2) D)(—2,4,0) -
R R T

(A)(2,3,4) B)(—1, =2, =3)  (©)(3.2,1) D)(3,5,7) -
9. fELQ2,5FIF X+) +5x+8y+2=02 - > REL L :

(A) 81 (B)9 ©—5 D)R2 -
10. 4o~ B§ » AABC® s AD L BC » ¢ 5w AB =20 > sin B= g ’cotC:% » B AC = ?

A

(A) 15 (B) 17 (C) 26 (D)28 -
11.35 a<0> b<0> b*—dac>0 PlFed R y=ax’+bx+c 2 BB &5 8 4519

(A)- (B)= ©)= Dy -
1207 ~2 g~ LELAR-FlEa L Pl s 5= Adpaka 2 55

(A5 B) 5 ©— O35 -

$1F Gt o)



13.2% f()5 -l P 2558 f(0)>02f25-3<x<6> R f3x)<0 2
(A)-1<x<2 B)x<-1 & x>2 (C)x<-1 2 x>4 (D)—4<x<8
14. i # 7 log(2x° +3x—2)F R &P #ex 2 FF 5

o

(A)x>% Doyl (B)0<x<1 (C)—2<x<% (D)x>0> fe x=1

n

T . T
COS— —Sm-—

15, g | 12 20 _p g ) p din @ 9
sin£ Ccos—
12 12
(A) 12 (B) 18 (C) 24 (D)30 -
16. BT & + B RL:y=3mx+(m+2) P|E R L {5HES— 87
1 1
(A)(0,—2) (B)(0,2) © 3.2 D) (—37,2)
17. % 4 (ak+b)=30 > s (ak+b)=54 Hfa+b=?
(A)O (B) 1 (©)2 (D)3 -
18. T Ficit i ¥ I FE 2
2 22 2" 2 2 2
(A) 3 3ttt >2 B) 5+ ..+ +..<1
3 3 7 7 7 8

(C)T+—4r+...+ 4" +...=1

19.3% k 5 B flr)y=2x"—3x+1> gl)=x"—2x"—3x+k > & fix)& gX)F - T FFN > Bl kG

(A)2 (B) —2 ©)3 D)4 -
20. 2% 2 8.00,0,0)~ 42,0, —1)~B3B,4,0)~ C@A,k, 1) tel - T 5 + 0] k=72
(A)2 (B) 4 €6 D)8 -

21 XL G 1 ehF C: (x+ 7+ (y—8 =91+ $ % > BEE R BGREM T 45 A B E ?
(A) 10 (B) 11 (©) 12 (D) 13 -

1
22. Kloges—H =M > logg N=—"5— > Rl 6M+IN=?

(A) 0 (B) 1 (€)2 (D)3 o

23, a & A L KRR T 0 w e E § Mdplicdidiit A K B4 Dl EF A B T LS
cEFAARET - Bled B FalcB AR E 0 Bl 98] pE

|

-
v

i EF B E Z BT ISR G2
(6w B ] f 1 im ] A iR 54235 107
(A)24 -] p= (B) 48 | p= (€) 69 | p= (D) 113 /|- p=

24'1:'%]7?'\?’ .:‘ﬂ;‘;é_ £ = ’i-q}fﬂ,‘_%'r_ﬁ ‘%\":’h]g]l'lj y ¥ O_D:S )y BR :;E‘_ £ = ,3,_;13 OAB ‘:’ﬁr—gﬁéﬁf’ r?

(A) 1 B)\ 6 — 2 ONEES! D)\ 3 -

£2F OFET 7%

(D) 10 + 102 +...+ 10" +"'>T

o

£ 5



25. F log, sin 30°+log, cos 30°+log, tan 30°+log, cot 30°+log, sec 30°+1log, csc 30°= ?

(A)—2 B)—1 ©0 1 -
26. £ NABC * > AB=6 AC=8> BC =6 B|BC } ¥ S AM 2. £ %
(A)~/] 41 (B) 20/ 41 (C)@ D)~ 42 -
27 4L 1A r— 1)+ (p—2) +1) @427 +(y—6) =13 > ‘@b 5 :
(A) 12 (B) 11 (C) 14 D)13 -
2 2 2
S N T T B i =1 R(p.g)=2?

(A) O, 4) (B) (4,9) (€) (10, 15) D) (15.10) -
20, R EE 4 1040 SE 1" H - FH L ER2F G R L E LER > FREE 20 o
FR B RFEHO IS0

1 1 1 1
(A) 7o~ (B) 10— (C) %

" Ui
14
30.%‘3‘&? B o TJJ; ' X 1B Tﬁia bfr'“—\g-‘\f‘l B2 B Tﬁ wﬁ;w Fé‘F‘: ;;\Iv

(A) 1 (B) 3 ©)5 (D)7 -

RS EERM (- ) £ MR F3HMIFAR  FRe LA LPe Lo
() FHIBREALpH: > HP 123 - REAIL IS FEEP 3 Hco T BEA 2
MEHREFZR2NLABO NS - PEAE- L83 BLAS BUIEEL LA
(Z) §RrmEF2B&Ldlengrip o

3LLEP(x,Y) 5 L HET & - B0 2% BA[ 0—2)+(y—4) + c+3)+(y+8) =13 PIPZ=E 7 il &

g ?

(A% - %2 (B)¥ = %2 (C)% = %2 (D)% = %2
E)n g -
32 Bxy T i b RS XY Ay k=0 L4 P et 7 K T FE 2
(A)E k=00 S 5 - B (B)E k=5 RS % - 2
O)F k=-5>RI S 5 &R (D)E R S+ x b > B k=1

EBE)ygSs-F - >RE<sz-1,2) -
33. T 54 f.iﬁ?iﬁﬂﬁi?
(A) sin(180° + 8)=sinf (B) cos(180°—#)= —cosf
(C) tan(90° + )= —cotd (D) sec(270°+ 0)=csch
(E) csc(90°+0)=secO -
34. T Al @ —*F,ﬂ} FE 7
(A)911 & Fik (B)1 & 7 (C) —5 5 F# (D) 333333 2 ¥ Fl#kF S5 B
EB)ygnl=nsm—1)...«32-1R10! 2 FFi3 4B -

53T ORGHET &%)



27

35. % (,020082?7[+isi1’1 ’ E'J—"—;'“‘P"'ﬁﬁﬁ?

(A) 0'"=0 B) l +o+n’=0
©) (1+0)(1+o)=1 (D) (2—0) 2—o’) 3—0) B—n?)=91
(E) o+ o+ ... +0®=0 -
36. 7 7| i % 1 FE 9
(A)09 <1 (B)f%k | #icio 5 § ik
(C)0.16 =% (D)0.16 > 016

— 2291
(E)2.315 ="355

o

& C D B D
set—p | 5t/ KA A N
D D \ A - \A
Bl - = B = Rl Iy
(A)Rl- (B) Bl = Om= (D)Fl = E)RI -
38.P(—3,1,0): Q@4,15, =) L: x;r3=y7_1=_ili AABEE P LY TG El3x—y+2z-4=02

LB RS Ra,b,c) o Bl

(A)d(P,E) =14 (B)d(Q,E) =21 (C)PR : QOR=2:3
(D)d(P,E)=~/14 (E)d(P,E)=+21 -
39. xy Lo b o TSGR DB - BR?
A) x=1+2cosd (0<R) B) x=1+cosf (9cR)
€ €

y=-2-2sin6 y=2cosl
x=cosd x=2cosf—sind

©) . (0<O<7) (D) . (020)
y=sin y=cosfd+2sinf

x=2-cos20
(E) i (0<6<7)
y=1+sin260

40.3K 0 5 g b o RIT A geat o AR D

(A) tand = sin 0

(B) sinfcosf =1 (C) tan’ @ —sec’ 0 =1
cosd

(D)tan@ - cscd =secd (E)cotld =cosf - cscl

N
>
~
=



